System of Equations SiAlylaall =1

Which of the following best A paagall S aal] sl cheay  AY ;‘.g'.l
describes the system of equations ¢ Bl gaill e Al Jusadll
shown in the graph?

Inconsistent
O i b
dependant
o Jia by il
consistent and dependent
: |a- .II -
C} . L_H-"J-"“' il

consistent and independent




Subtitution w5 gmill

Use substitution to solve the o sleall i s A magell] aadid

system of equations. 4x + 5y =11
4x + 5y =11 y—3x=-113

}’—3I=—13 %——

o Yt 152-45 =),

(FX =%




Elimination 1l

Use elimination to solve the system i slaall sl Ja A ciiadl asdid

of equations: . 2x +43y =—10
2x + 3y = —10 Sx +3f = —7

Sx + 3y = —7 R — -3

x=—1y=—4




Elimination using multiplication o pall al ikl Caisl

Use elimination to solve the system iifalaall all Ja A cidall asdil
of equations: ?ﬁﬁx — 3y = —3\
6x — 5y =-3 5 (sx+3y=19)

5x+3y =19 ,g %_%&:\c,

Y3 XS
0 —FTT =3 § X2 -bY =73

@] x=2,y=-3

\- |
|
N



The Best Method to Solve Eqguations Cllalmall = 42, Gk Le]

Determine the best method to solve cialaalt sl Jad 4d b TN

the system of equations. 3x+4y=11
3x +4y =11 y=-2x—1
y=-2x-1

bl alaiiods idal
Elimination Using Subtraction

cpall aladiuly widal

Elimination Using Multiplication

l-w_.-..-_...'L'I alaaioly e in
Elimination Using Addition

e gail]

Substitution




Multiplying a Palynomial by a Monomial 1> a4l oo 3545 bl po

Simplify m m

3(5x% + 2x — 4) — x(7x* + 2x). — -3(5x* +2x — 4) —I[TI + EI}

6Y K -] 2-TY3-2%"

3 -1 (2 —[—6}U~7Z®—f2-'

1522 = Tx3 4+ 4x -7

1322 + 6x — 7% — 12




Multiphying Binomials juaall ilgd i

Find the product i pall 7Sl angl

(3m + 4)(m —5). ( m

O 3m? + 15m— 1 gma-' IBV’H- L/"‘" -2

2
O _—" 3m?—11m-20 3 W _” M \20 b

O 3m? + 4m — 20

O 2mZ + 4m — 20 d



Special Squares duolall Srlwspall

Find ( 3x + 4y)°. A(3x+ 4y)% 2

ouq-+2 wlo+ b2

¢ 30 )42 -3 %4+ CYJ7
fa 2
For +24XY+697

O 9x% + 16y~
O 6x2 + 8y>

O I/sz + 24xy + 16y?

O 9x% + 12xy + 16y* g



The Distnbutive Property g el duals

Factor rm+5n+7r + 5. TN +5n 4+ 7+ 5 Jalsadl U Jla

o) l/ (r+5)m+1) 8% +Y +bh +5
¢ c h+ DYoo+ |

CY+B)Ch +1)

O (r—5)n+1)

O (r+5)(n-1)

O (r-5n-1) d



Solve Bquations of the Form x2 +bx+c=0 d2wall S J¥xleall > xZ2+bx=c=0

Solve the equation ddslaall s
n® + 12n = —-32. n? + 12n = —32

N2 432 =G

Ch+&X)Ch+4)

O n=4 n=-8 / (
v \V
0 n=—4,n=8 n=-X W= -1

_—




Differences of Squares =) e 0 580

Solve the equation. cdlalaad) o
25m? — 49 = 0. 25m? —49 =10




Solve Equations of the Form axZ +bxs ¢ dsgeall Gild agasll SILOMT Jil=T ax2+bxec

Factor 2x + 9x — 18. [ Q el N 2x% +9x — 18 s

2 %= \8=-36<"3

o x+3)2x-6) 2 961—\» \2-3xX-1X -
O \/z.r—snﬂﬁj 2 %C%+6)'5C%+E‘)

O (2x —6)(x +3) C 2% ""3> C%—F@ .

O (2x —2)(x—9)



Perfect Squares dlsBJ| ilay el

Factor a2 + 12a + 36. al+12a+36 Ja

O (a—6) (O*-) + 6) Ca)%)

2
0 (a + 9)? = CO‘"—'-é)

(as o 59!
O (a — 6)(a + 6)
a}\_o\_ékl L_'_i\-t.—u—z?‘
O 1/{n+ﬁ}3




Simplify Expressions julsill ey

Simplify the expression [(—2xy?)*]2. 8 ot [{—Exf@dp

O \/'541*5}'” C — 2 %J ZJ 6

g sy C~2)0 cafS 9P
§ 12
v

O 64 x°y8 { L{_ 25

G —16 IE}?'lE d




Multipl}l Monomials 34 sl Siliaals] o 1

Simplify the expression By g By ({% a*h) —4!1]3)._Jj=.
(G a?b)*(—4b)?).

[( Lycarcneni

 (LateY G
/16u4b5

4 ath®



Exponential Equation duatl 40alsall

Solve the equation. cdlalaadl s
25%-1 =g, 2551 =px




Evaluate(9.1 x 1077)(5.18 x 10?).
Express the results in scientific

notation.

\_/4.1'133 % 107

47.138 x 10~?
471.38 x 1075

4.7138 x 103

Scientific Notation Goldall yis,dll

(9.1 x1075)(5.18 % 10%) Lsd 1o
il Gaagll daSil Ge ey

Ca- | X5-KK | lo?*X e

7,188 X1a !
. 7138 X1 °




Use the graph below. colial Sl Juiail) aadiod
Find the y—intercept, and the range. cgtall Sy ) jenall e adaial) Jghe sl

/ oagall Lddall 22l s g il i1 el gl (e adadadl gk

The y-intercept is 1, and the range is all positive real numbers.

Aagall Ll DY) puan g8 saall i3 bl saall (e gl Sl
The y-intercept is 3, and the range is all positive real numbers.

aadall el aaan gb saall o3 el jsaall Ge plelall (gl

The y—intercept is 3, and the range is all real numbers.

Agiidal) e aan gb stall i1 ) jsaall (e pdeiall g
The y—intercept is 1, and the range is all real numbers.



6 Exponential Growth il galll
=0-0

So T

A college’s tuition has risen 57 ‘}-’.;, A rraladl adintll CAIES JL

each year since 2000. If the tuition ,I:..||.|'..‘.- {_,j ,.:..l....'n dAISS =ils 13 L2000 sl dia

in 2000 was AED 10,850, write an CUY. AED 10,850 <al %2000
s P

equation for the amount of the G Clgie oo adelll A 3lial dlilee QU

tuition ¢ years after 2000. 2000 ale

y = 10,850(0. 05)' 3 - auwC \+ Y\)—t’

y—=1lo,Xbo |+

y = 1(10, 850 + 0.05)"

/ y = 10,850(1 + 0.05)"

y = 10,850(1 — 0.05)" d

0 §5)C



Simplifying Radical Expressions 4 13| juleill bsiwd

Simplify the expression il Jala
5 5 2 + Ag
2 o —=X
2y Ve 240
O 10 +15JE lo + 5 ,\j?

'\

P \/mt:w.iﬁ 4 -6
wlo+5/\)_é’

o —10 ;5& 2

I

10 — 56
10 — 46




Operations with Radical Expressions 4 313l juleill adc Sillasll

Simplify the expression i) Bl
45 + 2420. 445 4+ 2420

¥ N + 2 A2X2X5

—YAN5 +2X2 A5




A -

L 4 ~/~f\f-j(/2r+(\f_ CH#VI x2V3) = X Aq =24

The area A of a triangle can be dpsal) aladioly Slial 4 Aalecad] slad] (Ea

found by the formula A = 2bh, S iab dus A = 2bh (,LI' 4' /\J\‘) —_L\'/\'
where b represents t hebasaan alial Sh) sl L .ELn..'J‘ﬂ_ph_. “> 3 X 5 I‘B

h is the height. What is the area

ot AT below? - NC /\[—5— X o2 ) = 2 ’J_E
. }C Vs xA5)= 5
2(2LH5 +4 N5 +24)\)

" 29 +3/\//7§

29 + 6V15 2




2 2
L%’gj —C X - | )QZ (49(,—-33 - % -
achal Bt ] sl o)
Solve the equation x — 3 = Vx — 1 . X =3 = Vx— 1 dslaadl Ja % ——g% —{’CF: 2:—'/

Chick your solution.

Y -7 +10=0 (o
/A
cx —5) Q%“Z\) -5 -2



% :B}A |// \:9 - Q’?-o I Rational Functions 4.0ill Il

g
Identify the asymptotes of the Y = ﬁ + 1 allall ol bghs sua
funl:tian}r=$+1- /‘:2~F2,30 =\ % — _2

i::} l/ }?=1¥Ei HJLEEJ I=—I=?HLI-II-JE-L$
Vertical asymptote: x = —2 , Horizontal asymptote:y = 1

O |
Vertical asymptote: x = 1, Horizontal asymptote:y = —2

o x=-2 :&,EEQJLELAJy:l:?HL.ﬂ.EE
Vertical asymptote: y = 1 , Horizontal asymptote:x = —2

G I=2 :EFFET"—."JLEL';‘;‘}'= —l.?mi;l__lJmE y



Solve Rational Equations diaill SiMalaall =

Solve the question. Check the solution. dadl e 3825 .4 3
3 (B3]

H
= E Xt




